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QUESTION 1

A company wants to use jumbo frames to improve performance with their iSCSI network. When setting up the Ethernet
switches for jumbo frames, which three components need to be configured? (Choose three.)

A. Ethernet port on Management Console
B. Ethernet port on RLM

C. Ethernet port on host system

D. Ethernet port on storage device

E. Ethernet port on FC switch

F. Ethernet switch ports being used

Correct Answer: CDF

QUESTION 2

What is the functionality of the latest Data ONTAP DSM for Windows?
A. It can handle FCP and iSCSI paths to the same LUN.

B. It allows you to take snapshots for both FCP and iSCSI LUNS.

C. It allows you to enable ALUA on the igroup from the host.

D. It allows you to create new LUNs from the host.

Correct Answer: A

QUESTION 3

What are three relevant perfstat counters to check for unaligned I/O that do not fall on the WAFL boundary? (Choose
three.)

A. wp.partial_write

B. vvol_read.io_valid

C. read/write_align_histo.XX

D. read/write_partial_blocks. XX
E. xinode content misses

Correct Answer: ACD
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Which FC SAN topology provides the best performance and scalability?

A. cascade

B. core-edge

C. full mesh

D. partial mesh

Correct Answer: B

QUESTION 5

Click the Exhibit button.
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Given the information shown in the diagram, which port has a NetApp device attached to it?

A. port 3
B. port 5
C. port 6

D. port 7

Correct Answer: D
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